

Progress Report (Second Term)

Session: 2015-2016

ABEERA SHERAZ Sr. No. Student's Name: Admission No.: 1265 1

Father's Name: M. SHERAZ Class: 1 - Golden Section:

PASS MARKS: 40 %	J	lune 2013	5	28 N			· 2015	_
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai	ks ned	Per%	REMARKS
ENG-WRITING	90	88	97	90		88	97	Mid Term 2015-16
URDU-WRITING	90	82	91	90	;	89	98	<u>Class Work</u>
MATHS	50	50	100	40	,	40	100	
G.SC	50	50	100	50	,	48	96	Home Work
S.ST	50	48	96	50		47	94	<u></u>
c.s	40	40	100	40		40	100	
ISLAMIAT	40	40	100	40		40	100	Attitude
ENG-READING	10	10	100	10	7	10	100	<u>, 11111440</u>
URDU-READING	10	10	100	10		10	100	
NAZRA	10	10	100	10	,	10	100	Progress Report (Second
CS-PRACTICAL	10	10	100	10	,	10	100	Class Work
MATHS-ORAL				10		7	70	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	438	97.33	450	43	9	97.56	
Percentage/Grade	97	.33 A	++	97.56		A +	+	Home Work
Position	Third	Out of	26	Second C		nd Out 26		Parents should get more involved with the individu
GRAND TOTAL	43	38	450	87	77	- i		
Grand Percentage/Grade	97	.33 A	++	97	'.44	A	\++	Attitude
Grand Position	s	econd	0	ut of	2	26		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	What the state of	PRINCIPAL */bod/ telamblob	COLLEGE	ANNIA ON	PRINC	IPAL arrestota	OLLEGE OL	
Controller of Exams								Current Result: Pass
	l							Previous Result: Pass Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

RABIA IMRAN Student's Name: Admission No.: 1277 Sr. No. 2

Father's Name: M. IMRAN Class: 1 - Golden Section:

PASS MARKS: 40 %		lune 201	5	ı <i>28 N</i>	ovem	her	2015	
SUBJECTS	Max	Marks	Per%	Max	Mar	ks		REMARKS
30832013	Marks	Obtained	Per 70	Marks	Obtai	ned	Per%	
ENG-WRITING	90	80	88	90		87	96	Mid Term 2015-16 Class Work
URDU-WRITING	90	72	80	90		77	85	Old33 WOLK
MATHS	50	50	100	40		37	92	
G.SC	50	49	98	50		44	88	Home Work
S.ST	50	50	100	50		48	96	<u></u>
C.S	40	38	95	40		40	100	
ISLAMIAT	40	39	97	40	3	40	100	Attitude
ENG-READING	10	10	100	10	7	10	100	<u> Minado</u>
URDU-READING	10	10	100	10		10	100	
NAZRA	10	10	100	10		10	100	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		9	90	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	418	92.89	450	42	22	93.78	
Percentage/Grade	92	.89 A	++	93.78		A +	+	Home Work
Position	11	Out of	26	5	Out of		26	Parents should get more involved with the individu
GRAND TOTAL	41	18	450	84	- i -		900	
Grand Percentage/Grade	92	.89 A	++	93	3.33	Δ	/++	Attitude
Grand Position		6	0	ut of		26		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	THE WALL STORY	PRINCIPAL	HAMAII * POR	PRINCIPAL E				
Controller of Exams								Current Result: Pass
	<u> </u>			<u> </u>				Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

IQRA SHAHZAD-(V) Admission No.:1293 Student's Name: Sr. No. 3

Father's Name: SHAHZAD ALAM KHAN Class: 1 - Golden Section:

PASS MARKS: 40 %	June 2015 28 November 201							_
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marl Obtair	ks ned	Per%	REMARKS
ENG-WRITING	90	84	93	90		34	93	Mid Term 2015-16
URDU-WRITING	90	78	86	90	•	66	73	<u>Class Work</u>
MATHS	50	50	100	40	4	40	100	
G.SC	50	48	96	50	4	42	84	Home Work
S.ST	50	50	100	50	4	42	84	<u> </u>
c.s	40	38	95	40	3	32	80	
ISLAMIAT	40	39	97	40	3	37	92	Attitude
ENG-READING	10	10	100	10	A	10	100	<u>, 11111440</u>
URDU-READING	10	9	90	10	•	10	100	
NAZRA	10	10	100	10		8	80	Progress Report (Second
CS-PRACTICAL	10	10	100	10		6	60	Class Work
MATHS-ORAL				10		6	60	Generally doing well, can improve easily.
TOTAL MARKS	450	426	94.67	450	38	3	85.11	
Percentage/Grade	94	.67 A	++	85.11		Α+		Home Work
Position	4	Out of	26	14	Out 2		26	Parents should get more involved with the individu
GRAND TOTAL	42	26	450	80	- ĭ		900	
Grand Percentage/Grade	94	.67 A	++	89	.89	-	Α +	<u>Attitude</u>
Grand Position		11	0	ut of	2	26		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature							PRIZES / AWARDS	
	A STANAL A SOS	PRINCIPAL	ones.	A SIMMAN	PRINCIPAL E			
Controller of Exams								Current Result: Pass



Progress Report (Second Term)

Session: 2015-2016

KAINAT Student's Name: Admission No.: 1296 Sr. No. 4

Father's Name: SHAHID KHAN Class: 1 - Golden Section:

PASS MARKS: 40 %		June 20	15	20 A	lovon	nhai	2015	
	Max	Marks	.	Max	Ma			REMARKS
SUBJECTS		Obtaine		Marks			Per%	KEMAKKO
ENG-WRITING	90	54	60	90		63	70	Mid Term 2015-16 Class Work
URDU-WRITING	90	36	40	90		59	65	<u>Class Work</u>
MATHS	50	46	92	40		34	85	
G.SC	50	32	64	50		39	78	<u>Home Work</u>
S.ST	50	38	76	50		37	74	
c.s	40	32	80	40		30	75	
ISLAMIAT	40	38	95	40	3	33	82	Attitude
ENG-READING	10	9	90	10	7	9	90	<u>/</u>
URDU-READING	10	8	80	10		6	60	
NAZRA	10	7	70	10		6	60	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		6	60	Less interest in homework. Parents should encourag
TOTAL MARKS	450	31	68.89	450	3	32	73.78	
Percentage/Grade	68	.89 E	3+	73.78		Α		Home Work
Position	26	Out of	26	25	25 Out of		26	Very weak area. Parents immediate attention is nec
GRAND TOTAL	3	10	450	6	42	900		
Grand Percentage/Grade	68	.89	B+	7′	1.33	.33		Attitude
Grand Position		26		ut of		26		Hopeless. parents help very much needed.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	(HUMMIC'S OF	PRINCIPA	Approximate a decision of the second	PRINCIPAL E				
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass
								i e e e e e e e e e e e e e e e e e e e



Progress Report (Second Term)

Session: 2015-2016

HUDA AMAN-(V) Student's Name: Admission No.: 1300 Sr. No. 5

Father's Name: M. AMAN ULLAH SHAH Class: 1 - Golden Section:

PASS MARKS: 40 %		June 201	5	28 M	ovon	hor	· 2015	
1000 1111 1111 1111 1111	Max	Marks		Max	Mai		2013	REMARKS
SUBJECTS		Obtained	Per%	Marks			Per%	7(2))) 117(8
ENG-WRITING	90	90	100	90		90	100	Mid Term 2015-16 Class Work
URDU-WRITING	90	90	100	90		90	100	Class Work
MATHS	50	50	100	40		40	100	
G.SC	50	50	100	50		50	100	Home Work
S.ST	50	50	100	50		50	100	
c.s	40	40	100	40		40	100	
ISLAMIAT	40	40	100	40	3	39	97	Attitude
ENG-READING	10	10	100	10		10	100	<u>/</u>
URDU-READING	10	10	100	10		10	100	
NAZRA	10	10	100	10		9	90	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		9	90	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	450	100.00	450	44	47	99.33	
Percentage/Grade	100	0.00 A	++	99.33		Α+	+	Home Work
Position	First	t Out of	26	Firs	t Out of		26	Parents should get more involved with the individu
GRAND TOTAL	4	50	450	89	97		900	
Grand Percentage/Grade	100	0.00 A	++	99	0.67	Δ	\++	Attitude
Grand Position		First	0	ut of	•	26		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A PARAMIT SON	PRINCIPAL	Althornoon of the state of the	PRINCIPAL E				
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

RAJA WASIM ZUBAIR Student's Name: Admission No.: 1319 Sr. No. 6

Father's Name: **ZUBAIR KHAN** Class: 1 - Golden Section:

PASS MARKS: 40 %	J	lune 2013	5	28 N			· 2015	_
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marl Obtair	ks ned	Per%	REMARKS
ENG-WRITING	90	69	76	90		79	87	Mid Term 2015-16
URDU-WRITING	90	49	54	90	7	75	83	<u>Class Work</u>
MATHS	50	50	100	40	;	36	90	
G.SC	50	47	94	50	4	42	84	Home Work
S.ST	50	45	90	50		35	70	<u></u>
c.s	40	38	95	40	3	38	95	
ISLAMIAT	40	37	92	40	3	35	87	Attitude
ENG-READING	10	10	100	10	A	10	100	<u>, 11111440</u>
URDU-READING	10	6	60	10		8	80	
NAZRA	10	7	70	10		6	60	Progress Report (Second
CS-PRACTICAL	10	6	60	10		4	40	Class Work
MATHS-ORAL				10		6	60	Generally doing well, can improve easily.
TOTAL MARKS	450	364	80.89	450	37	4	83.11	
Percentage/Grade	80	.89 A	+	83.11		Α+		Home Work
Position	22	Out of	26	17	Out of		26	Parents should get more involved with the individu
GRAND TOTAL	36	64	450	7:	38	- i -		
Grand Percentage/Grade	80	.89 A	+	82	2.00	-	Δ +	<u>Attitude</u>
Grand Position		20	0	ut of	2	26		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A STANKE & COR	PRINCIPAL	A COLLEGE	A JUNIOR A SURVEY	PRINCIPAL E			
Controller of Exams								Current Result: Pass
								Previous Result: Pass Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

Student's Name: ASIA Admission No.: 1320 Sr. No. 7

Father's Name: **AQAL ZADA** Class: 1 - Golden Section:

PASS MARKS: 40 %	J	lune 201	5	28 N			2015	_
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marl Obtair	ks ned	Per%	REMARKS
ENG-WRITING	90	77	85	90		73	81	Mid Term 2015-16
URDU-WRITING	90	67	74	90	6	67	74	<u>Class Work</u>
MATHS	50	50	100	40	3	37	92	
G.SC	50	50	100	50	4	45	90	Home Work
S.ST	50	45	90	50	4	1 6	92	<u></u>
c.s	40	40	100	40	3	39	97	
ISLAMIAT	40	39	97	40	**	35	87	Attitude
ENG-READING	10	10	100	10		10	100	<u>, 11111440</u>
URDU-READING	10	8	80	10		6	60	
NAZRA	10	10	100	10	1	10	100	Progress Report (Second
CS-PRACTICAL	10	10	100	10		6	60	Class Work
MATHS-ORAL				10		6	60	Generally doing well, can improve easily.
TOTAL MARKS	450	406	90.22	450	38	0	84.44	
Percentage/Grade	90	.22 A	++	84.44		Α+		Home Work
Position	12	Out of	26	16	Out of		26	Parents should get more involved with the individu
GRAND TOTAL	40	06	450	78	- ĭ		900	
Grand Percentage/Grade	90	.22 A	++	87	'.33	-	A +	Attitude
Grand Position		14	0	ut of	2	26		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A STANKE & COST	PRINCIPAL	Course	A SHAMMER SOL	PRINCI	PAL	A COLLEGE	
Controller of Exams								Current Result: Pass
								Previous Result: Pass Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

ZIA-UR-REHMAN Student's Name: Admission No.: 1323 Sr. No. 8

Father's Name: **AZIZ KHAN** Class: 1 - Golden Section:

PASS MARKS: 40 %	J	lune 201	5	28 N			· 2015	_	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mai Obtai	rks ined	Per%	REMARKS	
ENG-WRITING	90	71	78	90		76	84	Mid Term 2015-16	
URDU-WRITING	90	76	84	90		62	68	<u>Class Work</u>	
MATHS	50	50	100	40		40	100		
G.SC	50	48	96	50		41	82	Home Work	
S.ST	50	37	74	50		45	90	<u></u>	
c.s	40	40	100	40		38	95		
ISLAMIAT	40	39	97	40		37	92	Attitude	
ENG-READING	10	9	90	10		10	100	<u>, 11111440</u>	
URDU-READING	10	7	70	10		6	60		
NAZRA	10	9	90	10		10	100	Progress Report (Second	
CS-PRACTICAL	10	10	100	10		10	100	Class Work	
MATHS-ORAL				10		8	80	Generally doing well, can improve easily.	
TOTAL MARKS	450	396	88.00	450	38	33	85.11		
Percentage/Grade	88	.00 A	+	85.11		A+		Home Work	
Position	13	Out of	26	15	Out of		26	Parents should get more involved with the individu	
GRAND TOTAL	39	96	450	7	79	- i			
Grand Percentage/Grade	88	.00 A	+	86	5.56	-	Δ +	Attitude	
Grand Position		15	0	ut of	·	26		The student appears well rested and ready for each	
Attendance		Out of			Out of				
Teacher's Signature								PRIZES / AWARDS	
	AMMILA ON	PRINCIPAL */Bod/, htmms/	Courte	ANALY OF THE PROPERTY OF THE P	PRINCIPAL E				
Controller of Exams								Current Result: Pass	



Progress Report (Second Term)

Session: 2015-2016

Student's Name: AREESHA ISHFAQ-(V) Admission No.: 1332 Sr. No. 9

Father's Name: **ISHFAQ HUSSAIN** Class: 1 - Golden Section:

PASS MARKS: 40 %		lune 201	5	22 M	ovom	hor	2015	
100011111111111111111111111111111111111	Max	Marks		Max	Mar			REMARKS
SUBJECTS	-	Obtained	Per%	Marks			Per%	
ENG-WRITING	90	64	71	90	•	79	87	Mid Term 2015-16 Class Work
URDU-WRITING	90	74	82	90	1	84	93	Class Work
MATHS	50	50	100	40	,	40	100	
G.SC	50	46	92	50		46	92	Home Work
S.ST	50	40	80	50		49	98	
c.s	40	37	92	40	;	39	97	
ISLAMIAT	40	39	97	40	3	37	92	Attitude
ENG-READING	10	10	100	10	4	10	100	
URDU-READING	10	10	100	10		10	100	
NAZRA	10	10	100	10		9	90	Progress Report (Second
CS-PRACTICAL	10	10	100	10	,	10	100	Class Work
MATHS-ORAL				10		8	80	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	390	86.67	450	42	1	93.56	
Percentage/Grade	86	.67 A	+	93.56		Α+	+	Home Work
Position	14	Out of	26			Out 26		Parents should get more involved with the individu
GRAND TOTAL	39	90	450	8	11	- i -		
Grand Percentage/Grade	86	.67 A	+	90).11	.11 A		Attitude
Grand Position		10	0	ut of	2	26		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
							- 34	
	HWAH!	PRINCIPAL	HWALL SO	PRINCIPAL E				
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

TOOBA MURTAZA Student's Name: Admission No.: 1351 Sr. No. 10

Father's Name: **MURTAZA ISMAIL** Class: 1 - Golden Section:

PASS MARKS: 40 %	J	lune 201	5	28 N	ovem	ıber	2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Maı Obta		Per%	REMARKS
ENG-WRITING	90	81	90	90		81	90	Mid Term 2015-16
URDU-WRITING	90	58	64	90		49	54	<u>Class Work</u>
MATHS	50	50	100	40		37	92	
G.SC	50	41	82	50		38	76	Home Work
S.ST	50	43	86	50		39	78	
c.s	40	36	90	40		33	82	
ISLAMIAT	40	37	92	40	3	39	97	<i>Attitude</i>
ENG-READING	10	10	100	10		10	100	<u> Miniado</u>
URDU-READING	10	6	60	10		10	100	
NAZRA	10	10	100	10		5	50	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		8	80	Less interest in homework. Parents should encourag
TOTAL MARKS	450	382	84.89	450	35	59	79.78	
Percentage/Grade	84.	.89 A	+	79.78		Α		Home Work
Position	15	Out of	26	22	Ou of			Very weak area. Parents immediate attention is nec
GRAND TOTAL	38	32	450	74	1 1	,	900	
Grand Percentage/Grade	84.	.89 <i>A</i>	+	82	2.33		Α	Attitude
Grand Position		18	0	ut of	•	26		Hopeless. parents help very much needed.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	HAWALL COM	PRINCIPAL	ANALY ON	PRINCIPAL E				
Controller of Exams								Current Result: Pass
								Previous Result: Pass Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

Student's Name: SAMREEN Admission No.: 1380 Sr. No. 11

Father's Name: M. NAVEED Class: 1 - Golden Section:

PASS MARKS: 40 %	J	lune 2018	5	28 N	oveml	2015	_		
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mark Obtair	ເຣ າed	Per%	REMARKS	
ENG-WRITING	90	86	95	90	7	'5	83	Mid Term 2015-16	
URDU-WRITING	90	51	56	90	6	16	67	<u>Class Work</u>	
MATHS	50	48	96	40	3	35	87		
G.SC	50	27	54	50	4	! 2	84	Home Work	
S.ST	50	27	54	50	es.	39	78		
c.s	40	20	50	40	3	88	95		
ISLAMIAT	40	38	95	40	3	36	90	Attitude	
ENG-READING	10	10	100	10	1	0	100	<u> </u>	
URDU-READING	10	6	60	10	1	0	100		
NAZRA	10	10	100	10	1	0	100	Progress Report (Second	
CS-PRACTICAL	10	8	80	10	1	0	100	Class Work	
MATHS-ORAL				10		6	60	Generally doing well, can improve easily.	
TOTAL MARKS	450	331	73.56	450	372	2	82.67		
Percentage/Grade	73	.56 A		82.67		Α+		Home Work	
Position	24	Out of	26			Out 2		Parents should get more involved with the individu	
GRAND TOTAL	33	31	450	70	03	900			
Grand Percentage/Grade	73	.56 <i>A</i>	4	78	3.11	-	Δ+	Attitude	
Grand Position		23	0	ut of	2	26		The student appears well rested and ready for each	
Attendance		Out of			Out of				
Teacher's Signature								PRIZES / AWARDS	
	AMMILA ON	PRINCIPAL */Bod, telaments	P COLLEGE	PRINCIPAL E			A COUNTRY OF THE PROPERTY OF T		
Controller of Exams								Current Result: Pass	
	•								



Progress Report (Second Term)

Session: 2015-2016

UMAMA ALVI Student's Name: Admission No.: 1601 Sr. No. 12

Father's Name: **KHALID MEHMOOD** Class: 1 - Golden Section:

PASS MARKS: 40 %	J	lune 201	5	28 N	ovem	ber	· 2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Maı Obtai	rks ined	Per%	REMARKS
ENG-WRITING	90	75	83	90		83	92	Mid Term 2015-16
URDU-WRITING	90	63	70	90		81	90	<u>Class Work</u>
MATHS	50	46	92	40		38	95	
G.SC	50	36	72	50		44	88	Home Work
S.ST	50	31	62	50		42	84	
c.s	40	22	55	40		38	95	
ISLAMIAT	40	34	85	40	3	34	85	<i>Attitude</i>
ENG-READING	10	10	100	10		10	100	<u>/ 11114440</u>
URDU-READING	10	5	50	10		10	100	
NAZRA	10	10	100	10		10	100	Progress Report (Second
CS-PRACTICAL	10	8	80	10		8	80	Class Work
MATHS-ORAL				10		9	90	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	340	75.56	450	40	07	90.44	
Percentage/Grade	75	.56 A		90.44		A +	+	Home Work
Position	23	Out of	26	12 Out				Parents should get more involved with the individu
GRAND TOTAL	34	10	450	74	47	,	900	
Grand Percentage/Grade	75	.56	4	83	3.00	Δ	\++	Attitude
Grand Position		17	0	ut of	•	26		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A JUMANI A SOR	PRINCIPAL	A SINA A	PRINCE	IPAL Itametos) Sollie		
Controller of Exams								Current Result: Pass
	l .			·				Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

AYESHA BIBI Sr. No. Student's Name: Admission No.: 1607 13

Father's Name: **NASIR MEHMOOD** Class: 1 - Golden Section:

PASS MARKS: 40 %		lune 2	2013	5				<i>2015</i>	
SUBJECTS	Max Marks	Mai Obtai		Per%	Max Marks		rks ained	Per%	REMARKS
ENG-WRITING	90	8		93	90		80	88	Mid Term 2015-16
URDU-WRITING	90	5	8	64	90		68	75	<u>Class Work</u>
MATHS	50	5	0	100	40		40	100	
G.SC	50	4	3	86	50		42	84	Home Work
S.ST	50	3	9	78	50		47	94	
c.s	40	3:	2	80	40		38	95	
ISLAMIAT	40	3	6	90	40	3	39	97	<u>Attitude</u>
ENG-READING	10		9	90	10		9	90	<u> </u>
URDU-READING	10		6	60	10		8	80	
NAZRA	10	1	0	100	10		10	100	Progress Report (Second
CS-PRACTICAL	10	1	0	100	10		6	60	Class Work
MATHS-ORAL					10		9	90	Generally doing well, can improve easily.
TOTAL MARKS	450	;	377	83.78	450	3	96	88.00	
Percentage/Grade	83	.78	A-	+	88.00		A+		Home Work
Position	16	Ou of		26	13	0	ut of	26	Parents should get more involved with the individu
GRAND TOTAL	37	77		450	7	73		900	
Grand Percentage/Grade	83	.78	Α	+	85	5.89		A +	Attitude
Grand Position		16		Oi 0	ut of		26		The student appears well rested and ready for each
Attendance		Out of				Ou of	t		
Teacher's Signature									PRIZES / AWARDS
	Appanit of the state of the sta	PRINC	IPAL arrestato	P COLLEGE	HEMMIL SE	PRIN	SCHOOL SC	S COLLEGE	
Controller of Exams									Current Result: Pass
	ı								Previous Result: Pass
									Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

KHUSHLAB HAIDER Student's Name: Admission No.: 1900 Sr. No. 14 Father's Name: **MOHSIN ALI** Class: 1 - Golden **Section: Nursery**

PASS MARKS: 40 %		lune 201	5	28 N	ovemb	ber	2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mark Obtain	(s ned	Per%	REMARKS
ENG-WRITING	90	83	92	90	8	80	88	Mid Term 2015-16
URDU-WRITING	90	43	47	90	5	59	65	<u>Class Work</u>
MATHS	50	50	100	40	4	10	100	
G.SC	50	47	94	50	4	11	82	Home Work
S.ST	50	47	94	50	4	13	86	nome vvon
C.S	40	36	90	40	3	35	87	
ISLAMIAT	40	34	85	40	3	37	92	Attitude
ENG-READING	10	9	90	10	1	0	100	Attitude
URDU-READING	10	5	50	10		5	50	
NAZRA	10	9	90	10		6	60	Progress Report (Second
CS-PRACTICAL	10	8	80	10		6	60	Class Work
MATHS-ORAL				10		7	70	Generally doing well, can improve easily.
TOTAL MARKS	450	371	82.44	450	369	9	82.00	
Percentage/Grade	82	.44 A	+	82.00		Α+		Home Work
Position	18	Out of	26	20	Out	- ZD		Parents should get more involved with the individu
GRAND TOTAL	37	71	450	74	40	ç	900	
Grand Percentage/Grade	82	.44 A	+	82	2.22	F	4+	<u>Attitude</u>
Grand Position		19		ut of	2	26		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A PANALL SO	PRINCIPAL	S COLLEGE	All	PRINCI.	PAL	S COURS S	
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

GHASIQA NOOR Student's Name: Admission No.: 1925 Sr. No. 15 Father's Name: **M FAYYAZ** Class: 1 - Golden Section: Full

PASS MARKS: 40 %	J	<u> une 2013</u>	5		ovemb		
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marks Obtaine	ed Per%	REMARKS
ENG-WRITING	90	78	86	90	89	98	Mid Term 2015-16
URDU-WRITING	90	75	83	90	83	92	<u>Class Work</u>
MATHS	50	50	100	40	40	100	
G.SC	50	50	100	50	46	92	Home Work
S.ST	50	46	92	50	46	92	
C.S	40	40	100	40	39	97	
ISLAMIAT	40	40	100	40	38	95	Attitude
ENG-READING	10	10	100	10	10	100	71111111111
URDU-READING	10	10	100	10	10	100	
NAZRA	10	10	100	10	10	100	Progress Report (Second
CS-PRACTICAL	10	10	100	10	10	100	Class Work
MATHS-ORAL				10	10	100	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	419	93.11	450	431	95.78	
Percentage/Grade	93	.11 A-	++	95.78	А	++	Home Work
Position	9	Out of	26	Thir	d Out of	26	Parents should get more involved with the individu
GRAND TOTAL	41	19	450	8	50	900	
Grand Percentage/Grade	93	.11 A	++	94	.44	A++	Attitude
Grand Position		4	0	ut of	26	3	Anxious to learn can have hope.
Attendance		Out of			Out of		
Teacher's Signature							PRIZES / AWARDS
	A SANTER A S	PRINCIPAL	\$ COLLEGE.	HANNIG COS	PRINCIP.	POLY SCORE	
Controller of Exams							Current Result: Pass
				I			†
							Previous Result: Pass



Progress Report (Second Term)

Session: 2015-2016

MOMNA KARIM Student's Name: Admission No.: 1927 Sr. No. 16 **Father's Name:** Class: 1 - Golden Section: Full

PASS MARKS: 40 %	J	lune 201	5	28 N	oven	nber	2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Ma Obta		Per%	REMARKS
ENG-WRITING	90	70	77	90		75	83	Mid Term 2015-16
URDU-WRITING	90	49	54	90		<u>35</u>	38	<u>Class Work</u>
MATHS	50	50	100	40		35	87	
G.SC	50	48	96	50		42	84	Home Work
S.ST	50	41	82	50		41	82	
c.s	40	36	90	40		23	57	
ISLAMIAT	40	39	97	40		26	65	Attitude
ENG-READING	10	10	100	10		10	100	<u>/itt/tado</u>
URDU-READING	10	6	60	10		6	60	
NAZRA	10	10	100	10		6	60	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		6	60	Less interest in homework. Parents should encourag
TOTAL MARKS	450	369	82.00	450	3	15	70.00	-
Percentage/Grade	82	.00 A	+	70.00		Α		Home Work
Position	21	Out of	26	26	Oi O		26	Very weak area. Parents immediate attention is nec
GRAND TOTAL	36	69	450	68	34	,	900	
Grand Percentage/Grade	82	.00 A	/ +	76	6.00		Α	Attitude
Grand Position		24	0	ut of	•	26		Hopeless. parents help very much needed.
Attendance		Out of			Out			
Teacher's Signature								PRIZES / AWARDS
	A SAMALA	PRINCIPAL FROM, RESTRICT	PRINCIPAL E			Some)		
Controller of Exams								Current Result: Pass
								Previous Result: Pass Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

SARA JAVED Student's Name: Admission No.: 1937 Sr. No. 17 Father's Name: **JAVED IQBAL** Class: 1 - Golden Section: Full

PASS MARKS: 40 %	June 2015 28 November 2015							
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Ma Obta	rks ined	Per%	REMARKS
ENG-WRITING	90	84	93	90		83	92	Mid Term 2015-16
URDU-WRITING	90	81	90	90		81	90	<u>Class Work</u>
MATHS	50	50	100	40		38	95	
G.SC	50	50	100	50		42	84	Home Work
S.ST	50	50	100	50		47	94	
c.s	40	33	82	40		37	92	
ISLAMIAT	40	39	97	40	3	40	100	Attitude
ENG-READING	10	10	100	10		10	100	<u> Miniado</u>
URDU-READING	10	6	60	10		10	100	
NAZRA	10	10	100	10		5	50	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		10	100	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	423	94.00	450	4	13	91.78	
Percentage/Grade	94	.00 A-	++	91.78		A +	+	Home Work
Position	7	Out of	26	9	Ot of		26	Parents should get more involved with the individu
GRAND TOTAL	42	23	450	83	36		900	
Grand Percentage/Grade	94	.00 A	++	92	2.89	Δ	\++	<u>Attitude</u> Anxious to learn can have hope.
Grand Position		8	0	ut of		26		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A JUMANI A SOR	PRINCIPAL	A COULEGE	A SINA A	PRINC	A SIPAL) Sollie	
Controller of Exams					_			Current Result: Pass
	I			I				Previous Result: Pass
								Overall Result: Pass
								ļ ,



Progress Report (Second Term)

Session: 2015-2016

GULNAZ Student's Name: Admission No.: 2040 Sr. No. 18 Father's Name: **INHAD ALI** Class: 1 - Golden **Section: Primary**

PASS MARKS: 40 %	June 2015 28 November 2015							
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai	rks ined	Per%	REMARKS
ENG-WRITING	90	88	97	90		69	76	Mid Term 2015-16
URDU-WRITING	90	77	85	90		63	70	<u>Class Work</u>
MATHS	50	50	100	40		32	80	
G.SC	50	45	90	50		44	88	Home Work
S.ST	50	47	94	50		42	84	
c.s	40	40	100	40		36	90	
ISLAMIAT	40	36	90	40	3	38	95	<u>Attitude</u>
ENG-READING	10	10	100	10		10	100	<u> Minado</u>
URDU-READING	10	10	100	10		10	100	
NAZRA	10	10	100	10		7	70	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		8	80	Generally doing well, can improve easily.
TOTAL MARKS	450	423	94.00	450	36	69	82.00	
Percentage/Grade	94	.00 A	++	82.00		A +		Home Work
Position	6	Out of	26	19	Out of		26	Parents should get more involved with the individu
GRAND TOTAL	42	23	450	79	92		900	
Grand Percentage/Grade	94	.00 A	++	88	3.00	1	4+	<u>Attitude</u> The student appears well rested
Grand Position		12		ut of		26		and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A JAMAN A SA	PRINCIPAL A ADOUT RELEASED	S COLLEGE	HAMMER OF	PRINCE PRINCE	PRINCIPAL **		
Controller of Exams								Current Result: Pass
				<u> </u>				Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

WAIFA MAZHAR Student's Name: Admission No.: 2064 Sr. No. 19 Father's Name: **MAZHAR IQBAL** Class: 1 - Golden **Section: Nursery**

PASS MARKS: 40 %	ل ا	lune 201	5	28 N	oven	ıber	2015	
SUBJECTS	Max	Marks Obtained	Por%	Mov	Ma	rks		REMARKS
ENG-WRITING	90	80	88	90		86	95	Mid Term 2015-16
URDU-WRITING	90	76	84	90		75	83	<u>Class Work</u>
MATHS	50	50	100	40		34	85	
G.SC	50	50	100	50		44	88	Home Work
S.ST	50	50	100	50		47	94	nomo vvom
c.s	40	39	97	40		37	92	
ISLAMIAT	40	37	92	40		37	92	<i>Attitude</i>
ENG-READING	10	10	100	10	Ň	10	100	<u> Attitudo</u>
URDU-READING	10	6	60	10		10	100	
NAZRA	10	10	100	10		10	100	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		7	70	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	418	92.89	450	40	07	90.44	
Percentage/Grade	92	.89 A	++	90.44		A +	+	Home Work
Position	10	Out of	26	11	Out of		26	Parents should get more involved with the individu
GRAND TOTAL	41	18	450	82	25		900	
Grand Percentage/Grade	92	.89 A	++	91	.67	Δ	\++	Attitude
Grand Position		9	0	ut of		26		Anxious to learn can have hope.
Attendance		Out of			Out			
Teacher's Signature								PRIZES / AWARDS
	THY WALL TO BE	PRINCIPAL * Mad, tetamana	A COUNTRY OF	THE	PRINCIPAL FR			
Controller of Exams								Current Result: Pass
								Previous Result: Pass Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

RANIA BAIG Student's Name: Admission No.: 2181 Sr. No. 20 Father's Name: MUHMMAD TANVEER Class: 1 - Golden Section: Full

PASS MARKS: 40 %	<i>J</i>	June 201	5				2015	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mar Obtai		Per%	REMARKS
ENG-WRITING	90	66	73	90	,	84	93	Mid Term 2015-16
URDU-WRITING	90	68	75	90		49	54	<u>Class Work</u>
MATHS	50	50	100	40		37	92	
G.SC	50	48	96	50		40	80	Home Work
S.ST	50	44	88	50		42	84	
C.S	40	29	72	40		37	92	
ISLAMIAT	40	29	72	40	3	30	75	Attitude
ENG-READING	10	10	100	10		8	80	<u> </u>
URDU-READING	10	6	60	10		5	50	
NAZRA	10	9	90	10		7	70	Progress Report (Second
CS-PRACTICAL	10	10	100	10		6	60	Class Work
MATHS-ORAL				10		7	70	Less interest in homework. Parents should encourag
TOTAL MARKS	450	369	82.00	450	35	2	78.22	
Percentage/Grade	82	.00 A	+	78.22		Α		Home Work
Position	20	Out of	26	24	Ou of		26	Very weak area. Parents immediate attention is nec
GRAND TOTAL	36	69	450	72	21		900	
Grand Percentage/Grade	82	.00 A	+	80).11		Α	<u>Attitude</u>
Grand Position		22		ut of	:	26		Hopeless. parents help very much needed.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	(transit	PRINCIPAL ** About, tetambon	S COLLEGE STORY	HAWANI S ON	PRINC	IPAL MINACO	A COLLEGE	
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

M. ARYAN BAIG Student's Name: Admission No.: 2182 Sr. No. 21 Father's Name: MUHAMMAD TANVEER Class: 1 - Golden Section: Full

PASS MARKS: 40 %	J.	June 201	5		ovemi		2015	DE111-112
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Marl Obtair		Per%	REMARKS
ENG-WRITING	90	74	82	90	8	33	92	Mid Term 2015-16 Class Work
URDU-WRITING	90	68	75	90		56	62	Class WOIK
MATHS	50	50	100	40	3	39	97	
G.SC	50	49	98	50	4	41	82	Home Work
S.ST	50	43	86	50	4	43	86	
c.s	40	34	85	40	3	34	85	
ISLAMIAT	40	<u>12</u>	30	40	3	35	87	Attitude
ENG-READING	10	10	100	10		9	90	<u> </u>
URDU-READING	10	10	100	10		6	60	
NAZRA	10	10	100	10		6	60	Progress Report (Second
CS-PRACTICAL	10	10	100	10		6	60	Class Work
MATHS-ORAL				10		6	60	Generally doing well, can improve easily.
TOTAL MARKS	450	370	82.22	450	36	4	80.89	
Percentage/Grade	82	.22 A	+	80.89		A +		Home Work
Position	19	Out of	26	21	Out of	t	26	Parents should get more involved with the individu
GRAND TOTAL	37	70	450	7:	34	ç	900	
Grand Percentage/Grade	82	.22 A	+	81	.56	A	\ +	Attitude
Grand Position		21	0	ut of	2	26		The student appears well rested and ready for each
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	CANALLY COS	PRINCIPAL *Abod, letamable	A COLLEGE STREET	ANNING PROPERTY OF THE PROPERT	PRINCE	IPAL mesos	A COLLEGE B COLLEGE	
Controller of Exams								Current Result: Pass
								Previous Result: Pass



Progress Report (Second Term)

Session: 2015-2016

SADIYA HUSSAIN Student's Name: Admission No.: 2214 Sr. No. 22 Father's Name: **ALTAH HUSSAIN** Class: 1 - Golden **Section: Nursery**

PASS MARKS: 40 %		June 201	5	28 N	ovemb	er 20	015	
SUBJECTS	Max	Marks	Dor%	Max	Mark Obtain	s		REMARKS
ENG-WRITING	90	Obtained 86	95		Obtain 8		90	Mid Term 2015-16
URDU-WRITING	90	90	100	90	8	_	93	Class Work
MATHS	50	50	100	40	4	_	100	
G.SC	50	50	100	50	5		100	
S.ST	50	50	100	50	4		90	<u>Home Work</u>
C.S	40	40	100	40	3		95	
ISLAMIAT	40	40	100	40	3	9	97	
ENG-READING	10	10	100	10	1	0	100	<u>Attitude</u>
URDU-READING	10	9	90	10	1	0 1	100	
NAZRA	10	10	100	10	1	0 '	100	D
CS-PRACTICAL	10	10	100	10	1	0 '	100	Progress Report (Second Class Work
MATHS-ORAL				10		8	80	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	445	98.89	450	425	94	4.44	
Percentage/Grade	98	.89 A-	++	94.44	1	\++		Home Work
Position	Secon	nd Out	26	4	Out			Parents should get more involved with the individu
GRAND TOTAL	44	45	450	8	70	90	0	
Grand Percentage/Grade	98	.89 A	++	96	6.67	A++	+	<u>Attitude</u>
Grand Position		Third		ut of	2	6		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A STANT COM	PRINCIPAL	on Contraction of the Contractio	A SINA CALL	PRINCIPAL E		ighter)	
Controller of Exams								Current Result: Pass
				•				Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

MARYAM IFTIKHAR Student's Name: Admission No.: 2215 Sr. No. 23 Father's Name: **IFTIKHAR AHMED KHAN** Class: 1 - Golden **Section: Nursery**

PASS MARKS: 40 %	J	une 2013	5	1	ovemb		15	
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Mark Obtain		er%	REMARKS
ENG-WRITING	90	89	98	90	88	8	97	Mid Term 2015-16
URDU-WRITING	90	82	91	90	8	0	88	<u>Class Work</u>
MATHS	50	50	100	40	3	7	92	
G.SC	50	50	100	50	4	4	88	Home Work
S.ST	50	38	76	50	4	7	94	
c.s	40	39	97	40	3	9	97	
ISLAMIAT	40	40	100	40	3	8	95	Attitude
ENG-READING	10	10	100	10	1	0 1	00	<u> </u>
URDU-READING	10	6	60	10	1	0 1	00	
NAZRA	10	10	100	10	10	0 1	00	Progress Report (Second
CS-PRACTICAL	10	10	100	10	:	8	80	Class Work
MATHS-ORAL				10		7	70	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	424	94.22	450	418	92	2.89	
Percentage/Grade	94	.22 A	++	92.89	4	\++		Home Work
Position	5	Out of	26	8	Out of	26		Parents should get more involved with the individu
GRAND TOTAL	42	24	450	84	42	900)	
Grand Percentage/Grade	94	.22 A	++	93	3.56	A++		Attitude
Grand Position		5	0	ut of	20	6		Anxious to learn can have hope.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A JUNIAL H	PRINCIPAL	S COLLEGE S COLL	HAMMAN SON	PRINCIE	PAL SERVICE)	
Controller of Exams								Current Result: Pass
								Bussiana Bassita Basa
								Previous Result: Pass



Progress Report (Second Term)

Session: 2015-2016

HAJRA BIBI Student's Name: Admission No.: 2272 Sr. No. 24 Father's Name: **RAJA AURANG ZAIB** Class: 1 - Golden Section: Full

PASS MARKS: 40 %	ر ا	<i>June 201</i>	5	1	November 2015			
SUBJECTS	Max Marks	Marks Obtaine	Per%	Max Marks	Mar Obtai		Per%	REMARKS
ENG-WRITING	90	63	70	90		71	78	Mid Term 2015-16
URDU-WRITING	90	52	57	90		55	61	<u>Class Work</u>
MATHS	50	50	100	40		39	97	
G.SC	50	26	52	50		44	88	Home Work
S.ST	50	35	70	50		35	70	
C.S	40	29	72	40		30	75	
ISLAMIAT	40	39	97	40	3	37	92	Attitude
ENG-READING	10	9	90	10	7	10	100	7111111111
URDU-READING	10	6	60	10		10	100	
NAZRA	10	8	80	10		5	50	Progress Report (Second
CS-PRACTICAL	10	8	80	10		10	100	Class Work
MATHS-ORAL				10		6	60	Less interest in homework. Parents should encourag
TOTAL MARKS	450	325	72.22	450	35	52	78.22	-
Percentage/Grade	72	.22 A	\	78.22		Α		Home Work
Position	25	Out of	26	23	Ou of		26	Very weak area. Parents immediate attention is nec
GRAND TOTAL	32	25	450	6	77		900	
Grand Percentage/Grade	72	.22	Α	75	5.22		Α	<u>Attitude</u>
Grand Position		25		ut of	:	26		Hopeless. parents help very much needed.
Attendance		Out of			Out of			
Teacher's Signature								PRIZES / AWARDS
	A PARTY CO	PRINCIPA	OLLEGE.	HAMAN CO.	PRINC	CHOO SIPAL	OLLEGO SOLLEGO	
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass



Progress Report (Second Term)

Session: 2015-2016

MARYUM ABID Student's Name: Sr. No. 25 Admission No.: 2296 Father's Name: MUHAMMAD ABID KHAN Class: 1 - Golden Section: Full

PASS MARKS: 40 %		lune 2013	28 November 2015					
SUBJECTS	Max	Max Marks Dor0/		Max Marks				REMARKS
		Obtained		Marks				Mid Town 2045 46
ENG-WRITING	90	83	92	90		84	93	Mid Term 2015-16 Class Work
URDU-WRITING	90	73	81	90		85	94	
MATHS	50	50	100	40		40	100	
G.SC	50	49	98	50		43	86	Home Work
S.ST	50	50	100	50		46	92	
c.s	40	40	100	40		40	100	
ISLAMIAT	40	37	92	40		40	100	Attitude
ENG-READING	10	10	100	10		10	100	<u> </u>
URDU-READING	10	10	100	10		10	100	
NAZRA	10	7	70	10		8	80	Progress Report (Second
CS-PRACTICAL	10	10	100	10		6	60	Class Work
MATHS-ORAL				10		6	60	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	419	93.11	450	41	18	92.89	
Percentage/Grade	93	.11 A-	++	92.89		A +	+	Home Work
Position	8	8 Out 26		7 Out 26		26	Parents should get more involved with the individu	
GRAND TOTAL	41	419 450		837 9		900		
Grand Percentage/Grade	93	93.11 A++		93	93.00 A		\++	<u>Attitude</u>
Grand Position		7	0	ut of	26			Anxious to learn can have hope.
Attendance		Out of	Out of					
Teacher's Signature								PRIZES / AWARDS
	AMA CAR	PRINCIPAL	PRINCIPAL OF			Some Some		
Controller of Exams								Current Result: Pass
								Previous Result: Pass
								Overall Result: Pass
								Overali Nesult. Fass



Progress Report (Second Term)

Session: 2015-2016

AYESHA SANA Student's Name: Admission No.: 2343 Sr. No. 26 Father's Name: **NISAR AHMED** Class: 1 - Golden Section: Full

PASS MARKS: 40 %	J	lune 201	28 November 2015					
SUBJECTS	Max Marks	Marks Obtained	Per%	Max Marks	Ma Obta	rks ined	Per%	REMARKS
ENG-WRITING	90	71	78	90		89	98	Mid Term 2015-16
URDU-WRITING	90	55	61	90		70	77	<u>Class Work</u>
MATHS	50	50	100	40		39	97	
G.SC	50	49	98	50		43	86	Home Work
S.ST	50	42	84	50		47	94	
c.s	40	36	90	40		39	97	
ISLAMIAT	40	36	90	40	3	39	97	Attitude
ENG-READING	10	10	100	10		10	100	<u> </u>
URDU-READING	10	6	60	10		8	80	
NAZRA	10	10	100	10		9	90	Progress Report (Second
CS-PRACTICAL	10	10	100	10		10	100	Class Work
MATHS-ORAL				10		8	80	Doing well, very attentive. Must keep it up.
TOTAL MARKS	450	375	83.33	450	4	11	91.33	
Percentage/Grade	83.	.33 A	+	91.33		A +	+	Home Work
Position	17	Out of	26	10	Out of		26	Parents should get more involved with the individu
GRAND TOTAL	37	75	450	78	'86 <u> </u>		900	
Grand Percentage/Grade	83.	83.33 A+		87	87.33 A		\++	<u>Attitude</u> Anxious to learn can have hope.
Grand Position		13	0					Anxious to learn can have hope.
Attendance		Out of	Out of					
Teacher's Signature								PRIZES / AWARDS
	HAWALL CAR	PRINCIPAL * Abort, tetamonth	PRINCIPAL E			John Solling Control of the Control		
Controller of Exams					_			Current Result: Pass
	l			<u> </u>				Previous Result: Pass
								Overall Result: Pass